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Answers and commentaries 
 

 
 
Question 1 
With reference to these sources and your understanding of the historical context, assess the 
value of these three sources to an historian studying the Tiananmen Square demonstrations 
of 1989. 

[30 marks] 
  

Mark scheme  
L5: Shows a very good understanding of all three sources in relation to both content and  

provenance and combines this with a strong awareness of the historical context to 
present a balanced argument on their value for the particular purpose given in the 
question. The answer will convey a substantiated judgement. The response 
demonstrates a very good understanding of context.           25-30 

 
L4: Shows a good understanding of all three sources in relation to both content and  

provenance and combines this with an awareness of the historical context to provide a 
balanced argument on their value for the particular purpose given in the question. 
Judgements may, however, be partial or limited in substantiation. The response 
demonstrates a good understanding of context.             19-24 

 
L3: Shows some understanding of all three sources in relation to both content and  

provenance together with some awareness of the historical context. There may, 
however, be some imbalance in the degree of breadth and depth of comment offered 
on all three sources and the analysis may not be fully convincing. The answer will make 
some attempt to consider the value of the sources for the particular purpose given in 
the question. The response demonstrates an understanding of context.                  13-18 

 
L2: The answer will be partial. It may, for example, provide some comment on the value of  

the sources for the particular purpose given in the question but only address one or 
two of the sources, or focus exclusively on content (or provenance), or it may consider 
all three sources but fail to address the value of the sources for the particular purpose 
given in the question. The response demonstrates some understanding of context. 

7-12 
 
  

Please note that these responses have been reproduced exactly as they were written by 
the student. 
 
This resource is to be used alongside the A-level History Component 2P The 
Transformation of China, 1936-1997 June 2022 Question paper and inserts.   
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L1: The answer will offer some comment on the value of at least one source in relation to  
the purpose given in the question but the response will be limited and may be partially 
inaccurate. Comments are likely to be unsupported, vague or generalist. The response 
demonstrates limited understanding of context.                1-6 
 
Nothing worthy of credit.            0 

  



A-LEVEL HISTORY – 7042/2P – ANSWERS AND COMMENTARIES 

 

© 2024 AQA  5 of 24  

 

Student responses 
 
Response A 
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This is a Level 5 response 

The script has good focus and shows very good contextual knowledge, which is applied 
to both the provenance and the content of the sources. The strengths and the 
limitations of the sources are explored in reaching a substantiated judgement. 
Contextual knowledge is used to demonstrate value, with specific reference to the 
author, Fang Lizhi, in the case of Source A. Precise contextual knowledge is also used to 
explain the significance of the date of Source C, and the significance of ‘The People’s 
Daily’ (Source B). This enables the script to explore the purpose of the sources. Possible 
limitations, for example, exaggerations, are linked back to specific phrases in the source 
and also linked to context. The whole is a coherent evaluation of value using 
provenance, content and contextual knowledge. 
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Response B 
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This is a Level 3 response 

The script shows an awareness of context, the recall of which is triggered by the content in 
the source. The script is able to support points made in the source with some explanation 
linked to context, for example the reference to human rights in Source A is linked to Deng’s 
‘Open Door’ policy. There is some contextual knowledge related to the provenance, 
although this is used to describe the provenance rather more than to evaluate the source.  
The limitations of the sources are not explored, which leads to a one-sided evaluation of 
value. The use of the phrase ‘this refers to’, for example in the commentary on Source B, 
suggests an approach which sees the value of a source in terms of the ‘correct’ information 
it contains.  
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Question 2 
‘The Chinese Communist Party (CCP) had firm control over China by 1949.’ 
 
Assess the validity of this view. 

[25 marks] 
  

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the question.  

They will be well-organised and effectively delivered. The supporting information will 
be well-selected, specific and precise. It will show a very good understanding of key 
features, issues and concepts. The answer will be fully analytical with a balanced 
argument and well-substantiated judgement.             21-25 

 
L4: Answers will display a good understanding of the demands of the question. It will be  

well-organised and effectively communicated. There will be a range of clear and 
specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

16-20 
 
L3: Answers will show an understanding of the question and will supply a range of largely  

accurate information, which will show an awareness of some of the key issues and 
features, but may, however, be unspecific or lack precision of detail. The answer will be 
effectively organised and show adequate communication skills. There will be a good 
deal of comment in relation to the question and the answer will display some balance, 
but a number of statements may be inadequately supported and generalist.          11-15 

 
L2: The answer is descriptive or partial, showing some awareness of the question but a  

failure to grasp its full demands. There will be some attempt to convey material in an 
organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist.              6-10 

 
L1: The question has not been properly understood and the response shows limited  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment.  1-5 
 
Nothing worthy of credit.            0 
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Student responses 
 
Response A 
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This is a Level 5 response 

This script is a sustained analytical response with good focus on the question asked. Well-
selected supporting information is offered on the geographical control of the CCP, and the 
security of a unifying government which appeared to be less authoritarian in the 
Consultative Conference.  Also referenced is the ability of the CCP to build mass support 
through land reform. This is contrasted with the corruption of the GMD. The limitations of 
CCP control are also considered, including the situation in Taiwan, Tibet and Xinjiang, as 
well as the international reaction. There is very good understanding of key features and 
the judgement is well-substantiated.  
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Question 3 
‘Mao’s motives for launching the Hundred Flowers Campaign in 1957 were to give Chinese 
intellectuals greater freedom to offer criticism.’ 
 
Assess the validity of this view. 

[25 marks] 
 

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the question.  

They will be well-organised and effectively delivered. The supporting information will 
be well-selected, specific and precise. It will show a very good understanding of key 
features, issues and concepts. The answer will be fully analytical with a balanced 
argument and well-substantiated judgement.                        21-25 

 
L4: Answers will display a good understanding of the demands of the question. It will be  

well-organised and effectively communicated. There will be a range of clear and 
specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

16-20 
 
L3: Answers will show an understanding of the question and will supply a range of largely  

accurate information, which will show an awareness of some of the key issues and 
features, but may, however, be unspecific or lack precision of detail. The answer will be 
effectively organised and show adequate communication skills. There will be a good 
deal of comment in relation to the question and the answer will display some balance, 
but a number of statements may be inadequately supported and generalist.          11-15 

 
L2: The answer is descriptive or partial, showing some awareness of the question but a  

failure to grasp its full demands. There will be some attempt to convey material in an 
organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist.              6-10 

 
L1: The question has not been properly understood and the response shows limited  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment.  1-5 
 
Nothing worthy of credit.            0 
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Student responses 
 
Response A 
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This is a Level 3 response 

The script shows awareness of some of the key issues, but it is a narrative account in parts. 
There is awareness of Mao’s desire to look beyond the party, with reference to possible 
corruption within the CCP, with the expectation of receiving support from the intellectuals. 
The counter argument centres on Mao’s ‘disdain’ for the middle class and his track record 
of suppression. The comment that Mao ‘set a trap’ could have been further supported with 
context on the immediate aftermath of the campaign. The broader international and 
economic context is ignored. The conclusion that Mao ‘wanted to give power to the 
working class’ is not substantiated. Therefore the question has been addressed but with a 
number of generalist statements and a lack of precision.  
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